Name : ________________

Date: _______

Life Sciences 11 Unit 2 - : Review #2
UNIT # 1   ADAPTATION AND EVOLUTION – Read pp.299-302
(Learning Outcome : Allelic Frequencies of a Population Can Change/Disrupting Genetic Equilibrium.
1. For Frog Colour, assume that there is one Gene with two Alleles. 
G = Dark Green - Dominant

g = Yellowish Green - Recessive
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· Use the data above to calculate the following:
A) Phenotypic Ratio

B) Genotypic Ratio

C) Allelic Frequency

2. If Natural selection was the main driving force of Evolution in this population and the allelic frequency of "g" ends up being 0.62 or 62% of the alleles when you analyze this population 10 years later. What could you conclude about the Yellowish Green Phenotype.
___  3.  What state (condition) has been established when the proportion of an allele 

(allelic frequencies) in a gene pool for a population remains the same from one generation to another for a very long period of time, sometimes thousands or even millions of years.
____4. List at least 4 key conditions that must be maintained in order for this gene 
            pool to remain in this condition of no change?  (see Notes #6)
___  5.  List six different types of pressures or "DRIVERS" that can be put on a 
            population leading to a disturbance to its gene pool allowing evolution to take
             place.  
___  6.  What is the process called in which mates are chosen based on their  
            structures and behavioiurs?
____7. Humans have used what is called "ARTIFICIAL SELECTION"  which 
          mimics the process that you mentioned in question #6.  List at least 5 examples 
          of specific crops, livestock and pets that humans have altered through selective 
          breeding. Think back to the video on "Artificial Selection" that you watched.
___  8.  Regardless of Genetic Equilibrium; in reality, the conditions to maintain 
genetic equilibrium are rarely maintained for very long, so what will usually 
happen to the frequency of an allele which codes for a “desired/favored” 
phenotype?
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____9.  Give an example of how differential migration (rather than Natural 
             Selection) in the frog population that was used in question #1 could alter the    
             allelic frequencies in the gene pool so that one year later the allelic frequency 
            of "G" ends up being 0.7 or 70% of the alleles.  Use the words "Immigrate" 
             and "Emigrate"                                       
____10.  What is the process called in which a small group of individuals is
separated from the main population?

___11.  Why is it that most new mutations that arise are usually not as successful the 

existing genes in the gene pool that have been established over the past 
            millions and millions of years of. 

___12.  Describe Random Genetic Drift? (Think back to flipping nickles)
___13.  What happened in class to the allelic frequencies for the “Nickle” gene, 

which originally started with a 0.5 (Heads)- 50% : 0.5 (Tails) – 50% for 
allelic frequencies. What happened to "Heads" allelic frequency vs what happened to "Tails" allelic frequency?
___14. One of the key conditions for Genetic Equilibrium to be maintained is that 
          all members of the population, regardless of their phenotype, have "Equal 
           Viability". What is meant by "Equal Viability"?

____15.  Of the six main forces/factors (DRIVERS) that work to disrupt Genetic
            Equilibrium, name the THREE that are considered the biggest drivers of 
            evolution. 
____16. Write out the definition for “POPULATION” – see page 300
____17. Write out the definition for "GENE POOL" – see page 300

____18. Complete this statement: "Evolutionary change involves………." See p.301

____19. Write out the definition for "SPECIES" see first sentence on p. 302.
 


